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Consider the case forn=12 and K —stratege  no:=12 K:=3
1 12 78 364 1365 4368 12376 31824 75582
10 99 528 2002 6006 15015 32032 58344 87516
55 450 1580 6160 15015 30030 50050 68640 72930
220 1485 5400 13860 27720 45045 60060 64350 51480
715 3960 11880 25200 41580 55440 60060 51480 32175
2002 9009 22176 38808 52920 58212 51744 36036 18018
5005 18018 36036 51744 58212 52920 38808 22176 9009
11440 32175 51480 60060 55440 41580 25200 11880 3960
24310 51480 64350 60060 45045 27720 13860 5400 1485
48620 72930 68640 50050 30030 15015 6160 1580 450
92378 87516 58344 32032 15015 6006 2002 528 99
167960 75582 31824 12376 4368 1365 364 78 12
0 0 0 1 13 91 455 1820 6188 18564 50388 125970
0 0 0 10 109 637 2639 8645 23660 55692 114036 201552
0 0 0 55 505 2485 8645 23660 53690 103740 172380 245310
® 0 0 220 1705 7105 20965 48685 93730 153790 218140 269620
® 0 0 715 4675 16555 41755 83335 138775 198835 250315 282490
0 @ 0 2002 11011 33187 71995 124915 183127 234871 270907 288925
@ @ 0 5005 23023 59059 110803 169015 221935 260743 282919 291928
© @ 0 11440 43615 95095 155155 210595 252175 277375 289255 293215
O @ 0 24310 75790 140140 200200 245245 272565 286825 292225 293710
O 0 0 48620 121550 190190 240240 270270 285285 291445 293425 293875
O 0 0 92378 179894 238238 270270 285285 291291 293293 293821 293920
O 0@ O 167960 243542 275366 287742 292110 293475 293839 293917 293828
Consider the case forn=12 and K —stratege  no:=10 K:=2
1 10 55 220 715 2002 5005 11440
9 72 315 990 2475 5148 9009 12870
45 288 1008 2520 4950 7920 10296 10296
165 840 2352 4704 7350 9240 9240 6864
495 1980 4410 7056 8820 8820 6930 3960
1287 3960 6930 8820 8820 7056 4410 1980
3003 6864 9240 9240 7350 4704 2352 840
6435 10256 10296 7920 4950 2520 1008 288
12870 12870 9009 5148 2475 990 315 72
24310 11440 5005 2002 715 220 55 10
@ © 1 11 66 286 1001 3003 8008 19448
@ © S 81 396 1386 3861 9009 18018 30888
0 0 45 333 1341 3861 8811 16731 27027 37323
@ 0 165 1005 3357 8061 15411 24651 33891 40755
@ 0 495 2475 6885 13941 22761 31581 38511 42471
@ 0 1287 5247 12177 20897 29817 36873 41283 43263
Q@ 0 3003 9867 19107 28347 35697 40401 42753 43593
@ © 6435 16731 27027 34947 39897 42417 43425 43713
@ © 12870 25740 34749 39897 42372 43362 43677 43749
@ © 24310 35750 40755 42757 43472 43692 43747 43757
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Consider the case for n=7 and F1/5

Consider the case for n =8 and F1/5

i##%) (Dialog) Out]
0
1
9
45
165
495
1287
3003

i%8%) (Dialog) Out[268]

0
1
9
45
165
495
1287
3003

267)//Matr

0 0

7 28
48 147
180 420
480 840
990 1260
1584 1386
1716 924
MatrixForm=

0 Q

8 36
57 204
225 645
645 1485
1485 2745
2871 4257
4719 5643

0
84
336
735
1120
1260
1008
462

120

540
1380
2605
4005
5265
6105

29

0
210
630
1050
1225
16050
630
210

330
1170
2430
3830
5055
5895
6315

0
462
1008
1260
1120
735
336
84

792
2178
3690
4950
5790
6231
6399

0
924
1386
1260
840
420
147
28

1716
3564
4950
5790
6210
6378
6427

0
1716
1584
990
480
180
48
7

3432
5148
5940
6270
6390
6426
6434




Consider the case forn =9 and 15

##5) (Dialo

g) Out[278]/IMatrixForm=

Q o] Q Q Q Q ¢ c] c]
1 8 36 120 330 792 1716 3432 6435
10 63 224 588 1260 2310 3696 5148 6006
55 270 756 1568 2646 37830 4620 4752 3861
220 825 1800 2940 3920 4410 4200 3300 1980
715 1980 3300 4200 4410 3920 2940 1800 825
2002 3861 4752 4620 3780 2646 1568 756 270
5005 6006 5148 3696 2310 1260 588 224 63
11440 6435 3432 1716 792 330 120 36 8
[£#5) (Dialog) Out[279)//MatrixForm=
0] 0] 0] 0 0] 0] 0] 0] o]
1 S 45 165 495 1287 3003 6435 12870
10 73 297 885 2145 4455 8151 13299 19305
55 325 1081 2649 5285 9075 136385 18447 22308
220 1045 2845 5785 9705 14115 18315 21615 23595
715 2695 5995 10195 14605 18525 21465 23265 24090
2002 5863 10615 15235 19015 21661 23229 23985 24255
5005 11011 16159 19855 22165 23425 24013 24237 24300
11440 17875 21307 23023 23815 24145 24265 24301 24309
Consider the case for n =10 and F1/5
288) (Dialog) Out[289)/MatrixForm=
0 0] o (0] 0] ¢ 0] (0] 0] 0]
1 g 45 165 495 1287 3003 6435 12870 24310
11 80 324 960 2310 4752 8580 13728 19305 22880
66 385 1260 3024 5880 9702 13860 17160 18018 15015
286 1320 3465 6720 10584 14112 16170 15840 12870 8008
leo01 3575 7425 11550 14700 15876 14700 11550 7425 3575
3003 8008 12870 15840 16170 14112 10584 6720 3465 1320
8008 15015 18018 17160 13860 9702 5880 3024 1260 385
19448 22880 19305 13728 8580 4752 2310 960 324 80
43758 24310 12870 6435 3003 1287 495 165 45 9
i) (Dialog) Out[290]//MatrixForm=
0 0] ¢ 0 0] ¢] 0 (C] 0 0]
1 10 55 220 715 2002 5005 11440 24310 48620
11 91 415 1375 3685 8437 17017 30745 50050 72930
66 451 1711 4735 10615 20317 34177 51337 69355 84370
286 1606 5071 11791 22375 36487 52657 68497 81367 89375
1001 4576 12001 23551 38251 54127 68827 80377 87802 91377
3003 11011 23881 39721 55891 70003 80587 87307 90772 92092
8008 23023 41041 58201 72061 81763 87643 90667 91927 92312
19448 42328 61633 75361 83941 88693 91003 91963 92287 92367
43758 68068 80938 87373 90376 91663 92158 92323 92368 92377
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